Bridging through 10
Have a go at these calculations by working out what the "Next 10" is
to turn into a number bond question. Then add the remaining amount.

17 +9 =

Example +3 +6

I17 20 26
1. 13+8=

2.15+7 =
3.28+6+=
4.45+9=
5.87+7=
6. A lollipop costs 17p and a candy bar costs 6p. How much

altogether?

7. There are 19 people on a bus and 7 more people get on. How
many are now on the bus?

8. In a Purple Mash game Bob scored 77 points. Bill played the
same game and scored 8. How many points did they score
altogether?



